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ΠΑΓΚΤΠΡΘΑ ΛΟΓΘ΢ΣΘΚΗ ΟΛΤΜΠΘΑΔΑ 2014 

 
Ε Π Θ Π Ε Δ Ο    Θ 

 
(10 ζελίδες 30 ερωηήζεις) 

 

G  O O D   -   L U C K 
Κ  Α  Λ  Η   -  Δ  Π  Ι  Τ  Υ  Φ  Ι  Α 

 
INSTRUCTIONS TO CANDIDATES - ΟΔΗΓΘΕ΢ ΠΡΟ΢ ΣΟΤ΢ ΔΘΑΓΟΝΘΖΟΜΕΝΟΤ΢ 

 
For each question, choose and circle the best answer A, B, C, or D. 
 
Γηα θάζε εξώηεζε, επηιέμηε θαη θπθιώζηε ηε θαιύηεξε απάληεζε Α, Β, Γ ή Γ. 
 
 
1 Which of the following statements best describes a balance sheet (statement of financial 

position) of a business? 
A  a financial statement showing the assets, liabilities and capital of a business on a 

certain date 
B a list of balances remaining on a business’s books on a certain date 
C  a summary of a business’s transactions for the year 
D  a statement showing the financial position of a business at the year end 

 
1 Πνην από ηα αθόινπζα πεξηγξάθεη θαιύηεξα ηνλ ιζολογιζμό (καηάζηαζη  
σπημαηοοικονομικήρ θέζηρ) κηαο επηρείξεζεο; 

Α κηα νηθνλνκηθή θαηάζηαζε πνπ δείρλεη ηα ελεξγεηηθά, παζεηηθά θαη ην θεθάιαην κηαο 
επηρείξεζεο ζε κηα ζπγθεθξηκέλε ζηηγκή. 

Β κηα ιίζηα ππνινίπσλ πνπ παξακέλνπλ ζηα βηβιία κηαο επηρείξεζεο ζε κηα 
ζπγθεθξηκέλε ζηηγκή. 

  Γ κηα πεξίιεςε ησλ εηήζησλ ζπλαιιαγώλ κηαο επηρείξεζεο 
Γ κηα θαηάζηαζε πνπ δείρλεη ηελ νηθνλνκηθή θαηάζηαζε κηαο επηρείξεζεο ζην  ηέινο 

ελόο ινγηζηηθνύ έηνπο 
 
2   In a trial balance, which one of the following items would be correctly shown as a debit 

balance? 
A   Bank overdraft 
B  Discount received 
C  Returns inwards 
D   Returns outwards 
 

2     Πνην από ηα αθόινπζα ζηνηρεία ζα εκθαληδόηαλ κε ρξεσζηηθό ππόινηπν ζην δνθηκαζηηθό  
ηζνδύγην; 

 Α Παξαηξάβεγκα ηεο ηξάπεδαο 
 Β Δθπηώζεηο ιακβαλόκελεο  
 Γ Δπηζηξνθέο πσιήζεσλ 
 Γ Δπηζηξνθέο αγνξώλ 
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3 Which one of the following would appear in a trading account? 

A Discount allowed 
B  Carriage inwards 
C  Carriage outwards 
D  Discounts received 

 
3      Πνην από ηα παξαθάησ ζα εκθαλίδεηαη ζην ινγαξηαζκό εθκεηαιιεύζεσο εκπνξεπκάησλ; 

Α Δθπηώζεηο ρνξεγνύκελεο 
Β Μεηαθνξηθά αγνξώλ 
Γ Μεηαθνξηθά πσιήζεσλ 
Γ Δθπηώζεηο ιακβαλόκελεο  
 

4 Which one of the following pairs of ledger accounts are Nominal account?  
 A Buildings and Motor Van 
 B Cash in hand and cash at bank 
 C Capital and debtors 
 D Advertising and interest received 
 
4 Πνηό από ηα αθόινπζα δεύγε ινγαξηαζκώλ είλαη αποηελεζμαηικοί λογαπιαζμοί; 
 Α Κηίξηα θαη απηνθίλεηα 
 Β Μεηξεηά θαη ηξαπεδηθά ππόινηπα 
 Γ Κεθάιαην θαη ρξεώζηεο 
 Γ Γηαθεκίζεηο θαη έζνδα από ηνπο ηόθνπο 
  
5  In which of the following will cash discount allowed be originally recorded? 

A  Ledger 
  B Journal 

C  Purchases day book 
D  Cash book 
 

5 Σε πνην από ηα παξαθάησ θαηαρσξείηαη αξρηθά, ε επιηπεπόμενη ηαμειακή έκπηωζη ; 
  Α Καζνιηθό 
  Β Ηκεξνιόγην 
  Γ Ηκεξήζην βηβιίν αγνξώλ 
  Γ Τακείν  
 

6 During the financial year ended 31 December 2013, the Net profit of the firm was 
          €20 000 and the drawings of the proprietor were €6 000.  If capital account balance as at 31 

December 2013 was €80 000, what was the balance of the capital account as at 1 January  
2013? 

 A €  66 000 
 B €  98 000 
 C €  94 000 
 D €100 000 
 
6  Καηά ηε δηάξθεηα ηνπ νηθνλνκηθνύ έηνπο πνπ έιεμε ηελ 31 Γεθεκβξίνπ 2013 ην θαζαξό 

θέξδνο ηεο επηρείξεζεο ήηαλ €20 000 θαη νη αηνκηθέο απνιήςεηο ηνπ επηρεηξεκαηία €6 000.  
Αλ ην θεθάιαην θαηά ηελ 31 Γεθεκβξίνπ 2013 ήηαλ €80 000, πνην ήηαλ ην θεθάιαην ηεο 
επηρείξεζεο ζηε 1 Ιαλνπαξίνπ 2013; 

 A €  66 000 
 B €  98 000 
 Γ €  94 000 
 Γ €100 000  
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7 A van costing €8 000 is sold at a loss of € 500 after 5 years’ use.  The provision for 

depreciation account relating to the van shows a credit balance of €6 000. 
This means that, the van was sold for: 
A    €1 500 
B   €4 500 

 C         €2 000  
D          €6 500 
 

7 ΄Δλα απηνθίλεην θόζηνπο €8 000 πσιήζεθε κε δεκηά € 500 κεηά από πέληε ρξόληα δσήο.  Ο 
ινγαξηαζκόο πξόβιεςεο γηα απόζβεζε ζρεηηθά κε ην απηνθίλεην απηό δείρλεη πηζησηηθό 
ππόινηπν €6 000. 
 Απηό ζεκαίλεη όηη ην απηνθίλεην πσιήζεθε γηα: 

 Α         €1 500 
 Β €4 500 
 Γ €2 000 
 Γ €6 500 
  
8  During the year, the firm paid rent of €150, and carried forward a credit balance 

 of €20. The amount charged to the profit and loss account for rent was: 
A  €130 
B    €20 
C   €170 
D  €150 
 

8 Καηά ηε δηάξθεηα ελόο έηνπο, ε επηρείξεζε πιήξσζε ελνίθηα €150, θαη κεηάθεξε εηο λέν 
πηζησηηθό ππόινηπν €20. 

 Τν πνζό πνπ ζα ρξεσζεί ζην ινγαξηαζκό απνηειεζκάησλ γηα ελνίθηα ήηαλ: 
A  €130 
B    €20 
Γ   €170 
Γ  €150 

 
 9   A machine for use in the factory was purchased for €10 000. 

€500 was paid to transport and install the machine to the factory. A repair costing €100 was 
made to the machine 2 weeks after it began producing. 
The amount for the machine to be shown in the balance sheet (statement of    financial 
position) should be: 
A        €10 000 
B        €10 100 
C €10 500 
D €10 600 

 
 
9 Μηα κεραλή αγνξάζηεθε γηα  €10 000 γηα ρξήζε ζην εξγνζηάζην. Πιεξώζεθαλ €500 γηα ηε 

κεηαθνξά θαη εγθαηάζηαζε ηεο κεραλήο ζην εξγνζηάζην. Γύν εβδνκάδεο κεηά ηελ αξρή ηεο 
παξαγσγήο ε κεραλή είρε θόζηνο επηδηόξζσζεο €100. 
Τν πνζό γηα ηε κεραλή πνπ ζα εκθαληζζεί ζηνλ ηζνινγηζκό (θαηάζηαζε  
ρξεκαηννηθνλνκηθήο ζέζεο) ζα είλαη: 

      
A        €10 000 
B        €10 100 
Γ €10 500 
Γ €10 600 
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10 In which book of original entry will credit notes received be recorded? 

A  Purchases journal 
B  Purchases returns journal 
C  Sales journal 
D  Sales returns journal 

 
10 Σε πνηό βηβιίν αξρηθώλ εγγξαθώλ ζα θαηαγξαθηεί κία πηζησηηθή ζεκείσζε πνπ πήξακε; 
 Α Ηκεξνιόγην αγνξώλ 
 Β Ηκεξνιόγην επηζηξνθήο αγνξώλ 
 Γ Ηκεξνιόγην πσιήζεσλ 
 Γ Ηκεξνιόγην επηζηξνθήο πσιήζεσλ 
 
11   Which transaction would be recorded in the business’s journal? 

Α Cash withdrawn by the owner for his personal use 
B  Payment of rent by standing order 
C   Purchase of a new motor vehicle on credit 
D  Return of goods to a credit supplier  

 
11 Πνηα ζπλαιιαγή ζα εγγξαθεί ζην εκεξνιόγην ηεο επηρείξεζεο 
 Α Ο επηρεηξεκαηίαο απέζπξε κεηξεηά γηα πξνζσπηθή ηνπ ρξήζε 
 Β Πιεξσκή ελνηθίνπ κε ηξαπεδηθή εληνιή 
 Γ Αγνξά ελόο λένπ απηνθηλήηνπ κε πίζησζε 
 Γ Δπηζηξνθή εκπνξεπκάησλ ζηνλ πξνκεζεπηή 
 
12 What is the effect of treating capital expenditure as revenue expenditure? 

A  Gross profit understated 
B  Net profit overstated 
C Fixed assets understated 
D Fixed assets overstated 

 
12 Πνηά είλαη ε επίδξαζε ηνπ ρεηξηζκνύ ελόο θεθαιαηνπρηθνύ εμόδνπ σο ιεηηνπξγηθό έμνδν; 
  Α Τν κηθηό θέξδνο ππνηηκήζεθε 
 Β Τν θαζαξό θέξδνο ππεξηηκήζεθε 
 Γ Τα ζηαζεξά ελεξγεηηθά ππνηηκήζεθαλ 
 Γ Τα ζηαζεξά ελεξγεηηθά ππεξηηκήζεθαλ  
 
13      The owner of a business takes goods valued at €25 for his own use. This was not recorded 

in the accounts.   What is the effect of this on the net profit? 
A   overstated €25 
B  understated €25 
C  overstated €50 
D  no effect 

 
13 Ο ηδηνθηήηεο κηαο επηρείξεζεο πήξε εκπνξεύκαηα αμίαο €25 γηα δηθή ηνπ ρξήζε. Απηό δεν 

θαηαρσξήζεθε ζηνπο ινγαξηαζκνύο. Τη είλαη ε επίδξαζε απηνύ ζην θαζαξό θέξδνο; 
 Α ππεξηηκήζεθε €25 
 Β ππνηηκήζεθε €25 
 Γ ππεξηηκήζεθε €50 
 Γ θακία επίδξαζε 
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14 A Sales account will be found in the 

A  private ledger 

B  general ledger 

C  creditors’ ledger 

D        sales ledger  

 

14 Τν ινγαξηαζκό Πσιήζεσλ εκπνξεπκάησλ ζα ηνλ βξήηε ζην: 

 Α πξνζσπηθό θαζνιηθό 

 Β γεληθό θαζνιηθό  

 Γ θαζνιηθό πηζησηώλ 

 Γ θαζνιηθό πσιήζεσλ 

 

15  Which of the following pairs of accounts usually have credit balances? 

A  capital and expenses 

B  assets and expenses 

C  income and assets 

D liabilities and income  

 

15 Πνην από ηα αθόινπζα δεύγε ινγαξηαζκώλ ζπλήζσο έρνπλ πηζησηηθά ππόινηπα; 

  Α θεθάιαην θαη έμνδα 

  Β ελεξγεηηθό θαη έμνδα 

  Γ έζνδα θαη ελεξγεηηθό 

  Γ παζεηηθό θαη έζνδα 

 

16   Where is a trade discount shown? 

A  in the cash book 

B  in the personal accounts in the ledger 

C  in a discounts account 

D  in an invoice  

 

16  Πνύ ζα εκθαλεζηεί η εμποπική έκπηωζη; 

 Α ζην ηακείν 

 Β ζηνπο πξνζσπηθνύο ινγαξηαζκνύο ζην θαζνιηθό 

 Γ ζηνπο ινγαξηαζκνύο εθπηώζεσλ 

 Γ ζην ηηκνιόγην 

 

17  What is the purpose of preparing a trial balance? 

A  to check the arithmetical accuracy of the book-keeping 

B  to find the net profit or net loss 

C  to check that all transactions have been included in the books 

D to prove that there are no book-keeping errors  

 

17 Γηα πνην ιόγν εηνηκάδεηαη ην δνθηκαζηηθό ηζνδύγην; 

Α γηα λα ειέγμνπκε ηε αξηζκεηηθή αθξίβεηα ησλ εγξαθώλ καο 

 Β γηα λα βξνύκε ην θαζαξό θέξδνο ή ηε θαζαξή δεκηά 

Γ         γηα λα ειέγμνπκε όηη όιεο νη ζπλαιιαγέο καο έρνπλ ζπκπεξηιεθζεί  ζηα βηβιία 

Γ γηα λα απνδείμνπκε όηη δελ ππάξρνπλ ινγηζηηθά ιάζε 
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18  What does a credit balance brought down on the insurance account indicates? 

A A liability and a prepayment 

B  A liability and an accrual 

C An asset and an accrual 

D An asset and a prepayment  

 

18 Τη καο πξνζδηνξίδεη έλα πηζησηηθό ππόινηπν ζην λογαπιαζμό αζθάλιζηπα; 

 Α παζεηηθό θαη πξνπιεξσκέλα αζθάιηζηξα 

 Β παζεηηθό θαη νθεηιόκελα αζθάιηζηξα 

 Γ ελεξγεηηθό θαη νθεηιόκελα αζθάιηζηξα 

 Γ ελεξγεηηθό θαη πξνπιεξσκέλα αζθάιηζηξα  

 

 

19  A motor car costing €5 000 is depreciated at 20% per annum using the Diminishing 

balance method. It is sold after two years for €3 000. Which one of the following statements 

is true? 

A   The firm has made a €200 loss 

B   The firm has made a €200 profit 

C         The firm has made a €2 000 loss 

D         The firm has made a €3 000 profit 

 

 

 

19 Έλα απηνθίλεην ζηνίρηζε €5 000  θαη απνζβέλεηαη κε ηε θζήλνπζα κέζνδν κε πνζνζηό 

20%. Μεηά από δύν ρξόληα πσιήζεθε γηα €3 000.  Πνην από ηα αθόινπζα είλαη ζσζηό; 

 Α Η επηρείξεζε είρε δεκία €200 

 Β Η επηρείξεζε είρε θέξδνο €200 

 Γ Η επηρείξεζε είρε δεκία €2 000 

 Γ Η επηρείξεζε είρε θέξδνο €3 000 

 

 

20   A business maintains a full set of books of account.  Where will the purchases account 
appear? 
A        general journal 
B  general ledger 
C         purchases journal 
D        purchases ledger 
 

20  Μηα επηρείξεζε δηαηεξεί πιήξεο ζύλνιν ησλ ινγηζηηθώλ βηβιίσλ. Πνύ ζα εκθαλίδεηαη ν 
ινγαξηαζκόο  αγοπέρ; 

  Α γεληθό εκεξνιόγην 
  Β γεληθό θαζνιηθό 
  Γ εκεξνιόγην αγνξώλ 
  Γ θαζνιηθό αγνξώλ 
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21    A business buys goods for resale, from J. John paying in cash. What are the entries in 
the books of J. John? 

Account debited   Account credited 
A  purchases   J. John 
B  cash     sales 
C purchases    cash 
D  cash     supplier 
 

21 Μηα επηρείξεζε αγόξαζε εκπνξεύκαηα κε κεηξεηά από ην J. John. Πνίεο ζα  είλαη νη 
εγγξαθέο ζηα βηβιία ηνπ J. John; 

   Υρέωζη   Πίζηωζη 
  A αγνξέο   J. John 
  Β ηακείν    πσιήζεηο 
  Γ αγνξέο   ηακείν 
  Γ ηακείν    πξνκεζεπηήο 

 
22    The totals of the discount columns in a trader’s cash book were €350 debit and €100 

credit.  What entry will the trader make in the discount received account? 
A  €100 credit 
B  €350 credit 
C  €100 debit 
D   €250 debit 
 

22 Τα ζύλνια ζηηο ζηήιεο εθπηώζεηο ζην βηβιίν ηακείνπ ελόο εκπόξνπ ήηαλ €350  ρξεσζηηθό 
θαη €100 πηζησηηθό. Πνηά εγγξαθή πξέπεη λα γίλεη από ηνλ έκπνξν ζην ινγαξηαζκό 
εθπηώζεηο ιακβαλόκελεο; 

 A  €100 πίζησζε 
Β  €350 πίζησζε 
Γ  €100 ρξέσζε 
Γ   €250 ρξέσζε 

 
23   Which of the following transactions represents capital expenditure to a sole trader? 

A  additional capital invested by the owner 
B  cash withdrawn by the owner 
C  expenditure on the improvement of fixed assets 
D  expenditure to finance day-to-day expenses 
 
 

23 Πνηά από ηηο πνηό θάησ ζπλαιιαγέο αληηπξνζσπεύεη κεθαλαιοςσικά έξοδα ελόο εκπόξνπ; 
  Α επηπξόζζεην θεθάιαην επελδύζεθε από ηνλ ηδηνθηήηε 
  Β κεηξεηά απνζύξζεθαλ από ην ηδηνθηήηε 
  Γ έμνδα γηα θαιπηέξεπζε ηνπ ζηαζεξνύ ελεξγεηηθνύ 
  Γ έμνδα ρξεκαηνδόηεζεο εκεξήζησλ εμόδσλ 

 
 
24  What will be the effect on a sole trader’s balance sheet (statement of financial position) of 

the writing off of a bad debt? 
A  capital reduced and assets reduced 
B  liabilities increased and assets reduced 
C  liabilities reduced and assets increased 
D no effect on assets or liabilities 
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24 Πνηα ζα είλαη ε επίδξαζε ζηνλ ηζνινγηζκό (θαηάζηαζε ρξεκαηννηθνλνκηθήο ζέζεο) από ηε 

διαγπαθή αναξιόσπεων σπεωζηών; 
 Α κείσζε θεθαιαίνπ θαη κείσζε ελεξγεηηθνύ 
 Β αύμεζε παζεηηθνύ θαη κείσζε ελεξγεηηθνύ 
 Γ κείσζε παζεηηθνύ θαη αύμεζε ελεξγεηηθνύ 
 Γ θακία επίδξαζε ζην ελεξγεηηθό θαη παζεηηθό 
 
25 Sales for the year are €250 000.  Gross profit €50 000.  Opening stock is €18 000.  Closing 

stock is €22 000. Returns inwards €10 000 and carriage inwards  €2 000.   What are the 
purchases for the year? 

 A            €50 000 
 B    €190 000 
 C  €202 000 
 D        €192 000 
 
25 Οη πσιήζεηο ηνπ έηνπο είλαη €250 000.  Τν κηθηό θέξδνο είλαη €50 000.  Τν αξρηθό απόζεκα 

εκπνξεπκάησλ είλαη €18 000.  Τν ηειηθό απόζεκα είλαη €22 000. Δπηζηξνθέο πσιήζεσλ 
€10 000  θαη κεηαθνξηθά αγνξώλ €2 000.  Πόζεο είλαη νη αγνξέο ηνπ έηνπο; 

 A    €50 000 
 B     €190 000 
 C  €202 000 
 D         €192 000 
 
26 On 1 July 2011 a firm purchased a new machine for €16 000.  The estimated life is 5 years 

and the estimated residual value €1 000.  Using the straight line method of depreciation and 
the indirect way of keeping the accounts, what will be the net book value of the machinery 
in the balance sheet as at 31 December 2013?  
A   €7 500 
B   €8 500 
C   €7 000 
D €15 000 
 

26 Τελ 1 Ινπιίνπ 2011 ε επηρείξεζε αγόξαζε κηα θαηλνύξγηα κεραλή γηα €16 000. Η δσή ηεο 
ππνινγίζηεθε ζε 5 ρξόληα θαη ε ππνιεηπόκελε αμία ζε €1 000.  Φξεζηκνπνηώληαο ηε 
ζηαζεξή κέζνδν απόζβεζεο θαη ηoλ έκκεζν ηξόπν ηήξεζεο ησλ ινγαξηαζκώλ, πνηα ζα 
είλαη ε θαζαξή αμία ηνπ κεραλήκαηνο ζηνλ ηζνινγηζκό ζηηο 31 Γεθεκβξίνπ 2013; 
A   €7 500 
B   €8 500 
Γ   €7 000 
Γ €15 000 

 
 
27 Which of the following would cause a decrease in working capital? 

A  Purchase of stock for cash 
B Receipt of cash from debtor 
C  Purchase of stock on credit 
D  Purchase of office equipment by cheque 
 

27 Πνην από ηα αθόινπζα κεηώλεη ην θεθάιαην θηλήζεσο  
 Α αγνξά εκπνξεπκάησλ κε κεηξεηά 
 Β είζπξαμε κεηξεηώλ από ρξεώζηε 
 Γ αγνξά εκπνξεπκάησλ κε πίζησζε 
 Γ αγνξά εμνπιηζκνύ γξαθείνπ κε επηηαγή 
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28  Rent due is normally shown as a 

A  current asset in the balance sheet 
B  debit balance in the rent account 
C  fixed asset in the balance sheet 
D  credit balance in the rent account 
  

 
28 Ενοίκια οθειλόμενα ζπλήζσο εκθαλίδνληαη ζαλ 
  Α θπθινθνξηαθό ελεξγεηηθό ζην ηζνινγηζκό 
  Β ρξεσζηηθό ππόινηπν ζην ινγαξηαζκό ελνίθηα 
  Γ ζηαζεξό ελεξγεηηθό ζηνλ ηζνινγηζκό 
  Γ πηζησηηθό ππόινηπν ζην ινγαξηαζκό ελνίθηα 
 
29 The Petty Cashier starts with an Imprest amount of €100.  After the first week, he realises 

that this amount is too small and demands from the General Cashier to increase the 
Imprest amount by €50.  His demand is accepted by the General Cashier.  The Petty 
Cashier presents payment vouchers which amount to €98.  The General Cashier restored 
the Imprest amount to the new agreement.  The amount of restoration was: 

 Α €150 
 Β €  98 
 C €  50 
 D €148 
 
29 Η πξώηε εβδνκάδα ιεηηνπξγίαο ηνπ Μηθξνύ Τακείνπ μεθίλεζε κε ζηαζεξό πνζό €100.  Ο 

Μηθξόο Τακίαο δηαπίζησζε όηη ην πνζό απηό ήηαλ ιίγν θαη δήηεζε από ηνλ Γεληθό Τακία λα 
απμεζεί θαηά €50.  Τν αίηεκα ηνπ έγηλε δεθηό.   Ο Μηθξόο Τακίαο παξέδσζε ηηο απνδείμεηο 
πιεξσκώλ πνπ έθαλε αμίαο €98, ζηνλ Γεληθό Τακία θαη ηνπ δήηεζε λα ην αλαλεώζεη 
ζύκθσλα κε ην λέν ζηαζεξό πνζό πνπ εγθξίζεθε.  Πόζα ζα δώζεη ν Γεληθόο Τακίαο; 

 Α €150 
 Β €  98 
 Γ €  50 
 Γ €148 
 
 
 
30      A day’s total sale of €100 was posted from the day book to the debit of the sales account.  

As a result, the gross profit of the business was: 
 A         overstated by €100 
 B   understated by €200 
 C    overstated by €200 
 D    understated by €100  
 
30 Οη ζπλνιηθέο πσιήζεηο €100, θαηαγξάθηεθαλ από ην εκεξήζην βηβιίν πσιήζεσλ ζηε 

ρξέσζε ηνπ ινγαξηαζκνύ πσιήζεσλ. Απηό έρεη ζαλ απνηέιεζκα ην κηθηό θέξδνο ηεο 
επηρείξεζεο λα:   

 Α ππεξηηκεζεί θαηά €100   
 Β ππνηηκεζεί θαηά €200 
 Γ ππεξηηκεζεί θαηά €200 
 Γ ππνηηκεζεί θαηά €100 
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